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Kardomah Café 2014

Drink Menu Questions 
1) Dylan Thomas bought a squash and a lemonade. How much did it cost? 

2) Vernon bought a glass of milk and a lemonade. How much did it cost?

3) Daniel bought a milkshake and a lemonade. How much did it cost? 

4)  Mervyn bought a fruit smoothie and a glass of squash. How much did it cost? 

5) Ronald bought two glasses of lemonade and a glass of milk. How much did it cost? 

6) Dylan bought three glasses of squash. How much did it cost? 


7) Vernon bought four glasses of lemonade. How much did it cost? 

8) Daniel bought two glasses of squash and two glasses of lemonade. How much did it cost? 

9) Mervyn bought three cans. How much did it cost? 

10) Ronald bought two glasses of orange juice and a glass of fresh milk. How much did it cost? 


Kardomah Café 2014
Drink Menu Questions 2
1)  Tom buys a glass of milk and pays with a £1 coin. How much change will he get? 

2)  Vernon buys a glass of squash and pays with 50p. How much change will he get? 

3)  Dylan buys a glass of lemonade and a glass of squash. How much change will he get from £1?

3)  Dylan buys three glasses of squash. He pays with a £1 coin. How much change does he get? 
4)  Vernon wants a glass of milk and a glass of lemonade. He has £1.50 in his pocket. Does he have enough money? If so, how much change will he get? 

5)  Mervyn buys a milkshake, a fruit smoothie and a can of pop. How much does it cost? 

6)  Ronald buys a milkshake and a fruit smoothie. How much change will he get from a £5 note?

7)  Tom buys three glasses of squash and two glasses of orange juice. How much change will he get from a £5?

8)  Daniel buys a fruit smoothie, a lemonade and a squash. He has £2. How much change will he get? 

9)  Dylan has £3 in his pocket. He wants to buy a drink for himself and four friends. If he buys everybody the same drink, which drinks could he buy with £3? 

10) Vernon has spent exactly £2.15 on three drinks. Which drinks did   he buy? 
Kardomah Café 2014

Food Challenges
1)  Dylan buys 5 packets of crisps and the cost is £1.35. How much is 1 packet of crisps? 
2) Dylan went to the Kardomah every day for a week. He bought a cup of tea for a £1 and a bar of chocolate for 47p. How much did he spend altogether?

3) A jacket potato with a curry filling costs £4.50, and a jacket potato with a cheese filling costs £4. 
Six of the Kardomah gang bought jacket potatoes. Which jacket potatoes did they buy if the total came to £26 exactly?
4) An ice cream usually costs £1.85. They have an offer of 2 for £3.50. Do you save money? If so, how much? 
5) At the Kardomah café - 

1 sandwich and 1 coffee cost £4

2 sandwiches and 2 puddings cost £9

1 pudding and 2 coffees cost £2

How much does each item cost on its own?

How much would I have to pay for 1 sandwich, 1 coffee and 1 pudding? 
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